k g d b J a
RN item Desoription Meterlel | Quan.
? ; NOTES 1| E—30970 __ CORE_ASSEMBLY 1
. I — —-33165 COIL ASSEMBLY | ..... 8
1. THIS DWG. AND ALL REFERENCED DWGS. TO BE READ IN CONJUNCTION WITH TRIUMF SPECIFICATIONS. 21033185 COLL ASSEMBLY y
2. COILS TO BE SHIMMED AROUND POLE AND AGIANST YOKE WITH ETHYLENE PROPYLENE SHEET. s | Do33307  TEM 4 T .. 1
[0 3. PLACE ETHYLENE PROPYLENE BETWEEN ALL MOUNTING BRACKE:S AND COIL SURFACES. 5 /D-33307 TMEMS 000000 e }
e e S [ 4. MOUNT CONDUCTOR BRACKETS ( ITEMS 8 & 12 ) BY DRILLING AND TAPPING ON ASSEMBLY. g g:ggggg g g """ ]
5. ALL COPPER TO COPPER JOINTS SHALL BE BRAZED WITHOUT FLUX USING HANDY-HARMON "SIL-FOS* OR [g 133308 TN o | — [
APPROVED EQUAL 9 [ D-33309__MEM 8 | e 1
10 | D-33308 __meM 10 | em 1
8. AFTER ALL BRAZED AND MECHANICAL CONNECTIONS ARE MADE, PRESSURE TEST WITH AN INTERNAL T o53500— Tt 1
HYDROSTATIC PRESSURE OF 300 P.S.L 12 | D—-33310 meM 12 T ... 1
| 7. MINIMUM RESISTANCE COPPER TO GROUND SHALL BE MORE THAN 15 MEGOHM © 1500V. 13 | D-33310 _ meM 13 | o 1
| 8. AFTER BENDING, BRAZING AND TESTING, CONDUCTOR TAILS SHALL BE WRAPPED WITH FIBREGLASS TAPE, }; g‘ggg:;’ E :; ----- :
AND SOAKED WITH EPOXY ( WET LAY-UP ). LEAVE APPROX. 4" BARE EACH SIDE OF EVERY BRAZE WHERE e 1533311  Tiew 16 T
POSSIBLE AND LEAVE CONDUCTOR BARE THRU BRACKETS 10,13 &16. 17 | D-33311_meM 17 | o 1
9. THERMOSWITCHES SHALL BE CALIBRATED TO BE OPEN © 160" F. AND CLOSED @ 140" F.  { NORMALLY e -
CLOSED ) SWITCHES TO BE WIRED IN SERIES AND THE WIRE NEATLY LAID. 20 | D=33312  EM 20 =
| 10. FOR ILLUSTRATION OF BUS CONNECTION BETWEEN COIL A &COIL B, REFERENCE DWG. B-3982. 21 | D=33312  mMEM 21 ]
/ 22 | D-33312 MEM 22 | ... 1
55 APPROX. WEIGHT OF COMPLETE
—t 275 ASSEMBLY = 74,200 LBS. 25 C—30646 meM 25 1 . 18
26 | C—30648 _ ITEM 26 8
\ \ 27 | C-30646 _ MEM 27 | .o 18 |
o 7 A 28 [A-3500 MEM 28 | -
% \ A ’7&\1 1111111 NNANAN 29 | CONNECTOR — oot PRrusi Rr Ees Euseemes [— 16
\, !y 30_[THERMOSTAT — T.. KLXON §4434—13-223 ..... 16
57.50 gE.A.FL., / - - ‘K 31 _|5/8-11 UNC THREADED ROD x 12 LG. 4
. ~ S < 32 |1/2-13 UNC HEX HD MACHINE SCREW x 1 1/2 LGf * 12
VA AR N N 33 [3/8-18 UNC HEX HD MACHINE SCREW x 2 3/4 1G] ~ 3
\ \ 34 3/8—18 UNC HEX HD MACHINE SCREW x 2 LG. - 2
JIG DRILL .472¢ ] 35__|3/8-18 UNC SOC HD CAP SCREW x 2 1/2 LG, o
12 mm) X .275 DP. BRAZE, SEE NOTE 5 '.- 2 1/2 APPROX. 38 | 3/8-18 UNC SOC HD CAP SCREW x 4 1/2 LG. » 4
i IN EACH CONDUCTOR 37 | 5/8-11 UNC HEX NUT ol 18
FACE OF MATING 38 |3/8-18 UNC HEX NUT - 3
SURFACES 39 |3/8 DA PIAN WASHER s 18
40 1/2 DIA. _PLAIN WASHER hod 12
EXAMPLE OF CONDUCTOR 41 _[3/8 DI PLAN WASHER - o
SPLICING ( IF NECESSARY ) 42 [ | |
SCALE = 2 x FULL SIZE 43 | 1/8 DIA ROLL PIN x 1 1/2 LG. i}#_ 1
44 |3/8-18 UNC FLAT HD MACHINE SCREW x 1 1/2 LG. 2
BRAZE, S
NOTE #5
| 4 BRAZE, SEE
NOTE #5
L SEE NOTE 4
ity poulhdioesily " qic
® S~ _SSEE NOTE 9
DETAIL B’ Z
2 e 15 SCALE = 1/2 FULL SIZE
e 88.875 OAW. REF,——eee
VACUUM BOX BY
— @ BROOKHAVEN -]
CORE SUB—ASSEMBLY
HEIGHT OF CONDUCTOR TERMINATIONS /
TO BE DETERMINED BY BROOKHAVEN. '
SEE DETAIL 'B' ABOVE FOR CONSTRUCTION.
BRAZE ITEM #19 -~
TO COIL *B' TURN 1
HERE
— =t ( SEE NOTE 5 )
e
COIL PANCAKE O
SUB—ASSEMBLY <
A ( 4 ReQURED )
@ SEE NOTE 8
A BRAZE TURN 48 OF COIL ‘A’
i} @ TO MEM #19. (SEE NOTE 5)
—j Y oL A V1 7) 7 IERRAEEEE N
— | | i g —
10 I 1 M U — &
— 4 H M ] @
(::)——..J‘ Ii 104 H U N @ N |
O —— [\ 1 H U 2N
SEE NOTES 2 & 3 \u no0adddn ,,,/’\
_ ian . slalsllsliils - 0 |
T < \ % i —— &S,
T =] ] B
65.50 REF. ! [ ] SEE NOTE 4 @ @—‘E*’F I @
= P 3 3
,[ @ { | 9 - Q . l ]
£ - - - ¢ P
G
3 LAY L ® _
b & £ 7 A ® =
@ 281 / / i \ @
— 1 jp /
SEE NOTE 2 & 3 J/J : @@. SECTION 'A—A’
H SCALE = 1/2 FULL SIZE QODE #09
N [ BNL NO. D12-M-5803-5 FOR ILLUSTRATION OF THIS JOINT,
32,75 REF. ] - 2N, <AT. T A-= SEE DWG. B-3882
N.T.S. \\ TOLERANCES UNLESS OTHERWSE SPECFED:
BEND ALL TAILS TO 3 1/2 R, PRACTOUA. CMDmONE &
TYP. BOTH COILS. DEOMAL . &
ANOULAR - * "
s e/ s on s Rt Doga. Rov [Dote| Loe. Tovision By pov'e
COIL PANCAKE UNVERSITY of BRTISH COLUMOA
b4 SUB-ASSEMBLY ANCOMR. B.C. CANAGA TRIUMF
( 4 neoume ) p ) Dssignad
7 / ] GENERAL ASSEMBLY
Dheted LESB IT D1 — DIPOLE MAGNET
BROOKHAVEN NATIONAL LAB
’ """‘m Sote 14 Toster Diah o [~y v
DL 3818 Owte FEB.19,91 E—-30569 A
J g e d c 1 b l a




